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The respective probabilities of two students A and B to qualify an
examination are 0.05 and 0.10. The probability that both will together qualify
the examination is 0.02. Find the probabilities that

(i) Both A and B will not qualify the examination.
(i1) Atleast one of them will not qualify the examination.
(ii1) Only one of them will qualify the examination.
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(a) Write the rules for finding the cuberoot of a number in Vedic Mathematics

and hence find the cuberoot of (274625).
(b) Define ratio and proportion by giving example.

(c) A man completed 90 km distance in 9 hours. Out of this he completed some
distance on foot at the rate of 8 km per hour and remaining distance on bicycle
at the rate of 17 km per hour. How many km is the distance travelled on foot ?
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Prove that f = % for a convex mirror.

e f = focal length and r = radius of curvature.
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am specific characters of plant hormones ? Write in detail on any three plant
yrmones with their function in plants.




